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  Fisica	
  Applicata	
  
(2CFU-­‐20	
  ore)	
  

	
   L’idea	
   è	
   di	
   associare	
   i	
   conce<	
   di	
   fisica	
   discussi	
   durante	
   il	
  
corso	
   ad	
   esempi	
   pra:ci	
   collega:	
   al	
   vostro	
   indirizzo	
   di	
   studi	
  
illustrando	
  quindi	
  	
  

La	
  fisica	
  del	
  corpo	
  umano	
  



	
  La	
  Fisica	
  classica	
  

La	
  scienza	
  classica	
  descrive	
  un	
  mondo	
  completamente	
  prevedibile	
  
	
  
•  date	
  delle	
  condizioni	
  iniziale	
  che	
  iden:ficano	
  lo	
  stato	
  iniziale	
  del	
  

sistema	
  	
  

ex.	
  	
  viaggio	
  roma-­‐civitavecchia	
  a	
  v-­‐costante	
  con	
  partenza	
  da	
  x0	
  e	
  arrivo	
  a	
  
xf	
  	
  (xf-­‐x0=60km)	
  dopo	
  quanto	
  tempo	
  arrivo?	
  

	
  
	
  è	
  possibile	
  prevedere	
  con	
  assoluta	
  precisione	
  lo	
  stato	
  finale	
  del	
  sistema.	
  	
  



	
  Grandezze	
  fisiche	
  

	
  en:tà	
  reale,	
  misurabile	
  
	
  

	
  hanno	
  associate	
  le	
  dimensioni	
  
La	
  dimensione	
  denota	
  la	
  natura	
  fisica	
  della	
  grandezza	
  

	
  	
  Lunghezza	
  [L],	
  	
  Massa	
  [M],	
  	
  Tempo	
  [t],	
  	
  Corrente	
  [i],	
  	
  Temperatura	
  [T]	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [m]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [kg]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [s]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [A]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [°K]	
  
	
  
	
  

•  ci	
   sono	
   altri	
   sistemi	
   di	
   riferimento	
   in	
   cui	
   le	
   grandezze	
   sono	
   espresse	
   in	
   altre	
  
dimensioni.(	
  ex.	
  nel	
  C.G.S.	
  	
  La	
  lunghezza	
  [cm]	
  e	
  la	
  massa	
  [gr]	
  )	
  

Nota	
   bene	
   -­‐>	
   scelto	
   un	
   sistema	
   di	
   riferimento	
   bisogna	
   essere	
   coeren7	
  
u7lizzando	
   sempre	
   le	
   dimensioni	
   a	
   lui	
   associate	
   durante	
   lo	
   svolgimento	
  
dello	
  stesso	
  problema	
  	
  

	
  grandezze	
  fisiche	
  fondamentali	
  nel	
  sistema	
  internazionale	
  S.I.	
  
	
  



	
  	
  Lunghezza	
  [L],	
  	
  Massa	
  [M],	
  	
  Tempo	
  [t],	
  	
  Corrente	
  [i],	
  	
  Temperatura	
  [T]	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [m]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [kg]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [s]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [A]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [°K]	
  
	
  
	
   	
  grandezze	
  fisiche	
  fondamentali	
  nel	
  sistema	
  internazionale	
  S.I.	
  

	
  

Grandezze	
  fisiche	
  derivate:	
  	
  
sono	
  le	
  grandezze	
  fisiche	
  che	
  posso	
  essere	
  espresse	
  come	
  
combinazione	
  delle	
  grandezze	
  fisiche	
  fondamentali	
  

Area:	
  combinazione	
  di	
  due	
  lunghezze	
  à	
  m2	
  

Velocità:	
  combinazione	
  di	
  una	
  lunghezza	
  e	
  un	
  intervallo	
  temporale	
  à	
  m/s	
  
Densità:	
  combinazione	
  di	
  tre	
  lunghezze	
  e	
  della	
  massa	
  à	
  Kg/m3	
  

	
  Ricorda:	
  la	
  dimensione	
  
denota	
  la	
  natura	
  fisica	
  della	
  grandezza	
  



é	
   ê	
  

102	
   eOo	
   H	
   10-­‐2	
   cen:	
   c	
  

103	
   kilo	
   k	
   10-­‐3	
   milli	
   m	
  

106	
   mega	
   M	
   10-­‐6	
   micro	
   µ	
  

109	
   giga	
   G	
   10-­‐9	
   nano	
   n	
  

1012	
   tera	
   T	
   10-­‐12	
   pico	
   p	
  

1015	
   peta	
   P	
   10-­‐15	
   femto	
   f	
  

ex.	
  :	
  	
  1k	
  =	
  103gr	
  =	
  10	
  Hg	
  
ex.	
  :	
  	
  1mm	
  =	
  10-­‐3	
  m	
  =	
  106	
  nm	
  
ex.	
  :	
  	
  1dl	
  =	
  10-­‐1	
  l	
  =	
  102	
  ml	
  

Info:	
  il	
  Litro	
  [L]	
  è	
  l’unità	
  di	
  misura	
  del	
  volume	
  ma	
  non	
  nel	
  S.I.	
  
1Litro	
  [L]	
  =	
  1dm3	
  è	
  nel	
  S.I.	
  :	
  10-­‐3	
  m3	
  	
  (1	
  decimetro	
  cubo:	
  1	
  cubo	
  di	
  lato	
  10cm)	
  

Mul7pli	
  e	
  So_omul7pli	
  



	
  Grandezze	
  scalari	
  

	
  	
  Iden:ficate	
   da	
   1	
   solo	
   numero	
   con	
   le	
   rela:ve	
  
dimensioni	
  	
  
	
  
	
   	
   	
   	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  esempi:	
  

	
  
massa:	
  m	
  =	
  83	
  (kg)	
  

cost.	
  gravitazionale:	
  G	
  =	
  6.67	
  10-­‐11	
  (N	
  m2	
  kg-­‐2)	
  
densità:	
  𝜌	
  =	
  m	
  /	
  V	
  	
  (kg/m3)	
  

	
  
	
  



	
  Grandezze	
  veOoriali	
  
	
  
VeOore	
  velocità:	
  	
  V	
  (in	
  grasseOo),	
  	
  	
  	
  	
  	
  	
  	
  (con	
  la	
  freccia)	
  	
  
	
  
iden:ficate	
  da	
  3	
  	
  parametri:	
  
	
  
Modulo:	
  indicato	
  senza	
  grasseOo	
  V	
  oppure	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  dice	
  quanto	
  è	
  grande	
  il	
  veOore:	
  

	
   	
   	
  	
  v	
  =	
  57	
  m	
  s-­‐1	
  ;	
  a	
  =	
  18	
  m	
  s-­‐2	
  ;	
  
	
  
Direzione:	
  individua	
  la	
  reOa	
  lungo	
  la	
  quale	
  il	
  veOore	
  agisce	
  
Verso:	
  indica	
  l’orientazione	
  del	
  veOore	
  
	
   	
   	
   	
   	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  
	
  
	
  
	
  

V
!"

V
!"

verso	
  

direzione	
  

punto	
  di	
  applicazione	
  

modulo	
  

V
!"



	
  Grandezze	
  veOoriali	
  in	
  un	
  sistema	
  di	
  riferimento	
  

	
  	
  
x	
  

y	
  

ß

V
!"
x =V cos(β)x̂

V
!"
y =V sin(β)ŷ

V
!"

Modulo	
  del	
  veOore	
  Vx	
  

Il	
  versore	
  è	
  un	
  veOore	
  che	
  ha	
  modulo=1	
  	
  
Spesso	
  è	
  usato	
  per	
  indicare	
  la	
  direzione	
  e	
  il	
  verso	
  di	
  una	
  grandezza	
  che	
  ha	
  come	
  modulo	
  
un	
  valore	
  ben	
  determinato	
  (nella	
  figura	
  il	
  veOore	
  Vx	
  =	
  V	
  cos(ß)x	
  	
  ha	
  modulo	
  Vx=Vcos(ß)	
  
e	
  direzione	
  e	
  verso	
  indica:	
  dal	
  versore	
  x	
  

2D	
  



	
  Variazione	
  di	
  Grandezza	
  fisica	
  

Data	
  la	
  grandezza	
  fisica	
  “distanza”	
  indicata	
  con	
  “s”	
  
si	
  definisce	
  la	
  variazione	
  di	
  “s”:	
  

Δs	
  =	
  sfinale	
  –	
  	
  siniziale	
  
	
  
sf	
  =	
  35	
  m	
  ;	
  si	
  =	
  12	
  m	
  ;	
  Δs=35-­‐12=23	
  
sf	
  =	
  15	
  m	
  ;	
  si	
  =	
  19	
  m	
  ;	
  Δs=15-­‐19=-­‐4	
  
sf	
  =5	
  m	
  ;	
  si	
  =	
  -­‐10	
  m	
  ;	
  Δs=5-­‐(-­‐10)=25	
  
	
  

La	
  variazione	
  di	
  una	
  grandezza	
  fisica	
  rispeOo	
  ad	
  
un’altra	
  è	
  espressa	
  dall’operazione	
  derivata	
  

V
!"
=
ds(t)
! "!!

dt
  



	
  Grandezze	
  fisiche	
  

Velocità,	
  def	
  :	
  spazio	
  percorso	
  nell’intervallo	
  tempo:	
  	
  

V
!"
media =

s
"
(t2 )− s

"
(t1)

t2 − t1
=
Δs
"

Δt
   ⇔  [L] [s−1] ⇔  (m s-1  in S.I.)

Nel	
  limite	
  in	
  cui	
  Δt	
  →	
  0	
  (diventa	
  piccolissimo)	
  	
  

V
!"

istantanea =
ds
"

dt
   ⇔  [L] [s−1] ⇔  (m s-1  in S.I.)



	
  Grandezze	
  fisiche	
  

Accelerazione,	
  def	
  :	
  

a
!
media =

V
"!

(t2 )−V
"!

(t1)
t2 − t1

=
ΔV
"!

Δt
   ⇔  [L] [s−2 ] ⇔  (m s-2  in S.I.)

Nel	
  limite	
  in	
  cui	
  Δt	
  →	
  0	
  (diventa	
  piccolissimo)	
  	
  

a
!

istantanea =
dV
"!

dt
   ⇔  [L] [s−2 ] ⇔  (m s-2  in S.I.)



	
  Principi	
  della	
  Dinamica	
  



	
  1°	
  Principo	
  della	
  Dinamica	
  –	
  Principio	
  d’inerzia	
  

In	
  assenza	
  di	
  forse	
  esterne,	
  un	
  corpo	
  si	
  trova	
  

•  O	
  in	
  quiete	
  ⇒	
  |V|	
  =	
  0	
  
•  O	
  in	
  moto	
  re<lineo	
  uniforme	
  	
  

⇒	
  V	
  =	
  costante	
  in	
  modulo	
  direzione	
  e	
  verso	
  
→	
  

→	
  

La	
  velocità	
  definisce	
  quindi	
  lo	
  “stato	
  di	
  moto”	
  di	
  un	
  corpo	
  
⇒	
  V	
  =	
  0	
  	
  	
  il	
  corpo	
  è	
  in	
  quiete	
  

	
  
⇒	
   una	
   variazione	
   della	
   velocità	
   indica	
   una	
   variazione	
   dello	
  
“stato	
  di	
  moto”	
  di	
  un	
  corpo	
  
⇒	
   la	
   variazione	
   del	
   veOore	
   velocità	
   da	
   origine	
   al	
   veOore	
  
accelerazione.	
  
è	
   Quando	
   su	
   un	
   corpo	
   non	
   agisce	
   nessuna	
   forza	
   la	
   sua	
  
accelerazione	
  è	
  =	
  0	
  



	
  2°	
  Principo	
  della	
  Dinamica	
  

F=m	
  a	
  
→	
   →	
   [F]=[M][L][t]-­‐2	
  	
  	
  

⇒	
  	
  nel	
  S.I.:	
  (Newton:	
  N)	
  =	
  (Kg	
  m	
  s-­‐2)	
  

Se	
  un	
  corpo	
  è	
  soOoposto	
  ad	
  una	
  forza	
  non	
  nulla	
  F,	
  esso	
  
assume	
  un’accelerazione	
  	
  a	
  direOamente	
  proporzionale	
  
alla	
  forza	
  agente	
  sul	
  corpo	
  e	
  inversamente	
  proporzionale	
  

alla	
  massa	
  del	
  corpo	
  
	
  F/m	
  =a	
  

•  Se	
  ci	
  sono	
  più	
  forze	
  à	
  risultante	
  delle	
  forze!!	
  	
  	
  Ftot=ma	
  
	
  
•  Se	
  la	
  risultante	
  delle	
  forze	
  è	
  nulla	
  la	
  velocità	
  del	
  corpo	
  

è	
  costante	
  in	
  modulo	
  direzione	
  e	
  verso	
  quindi	
  
è	
  Il	
  corpo	
  è:	
  o	
  fermo	
  o	
  in	
  moto	
  re<lineo	
  uniforme	
  



	
  3°	
  Principo	
  della	
  Dinamica	
  

Ad	
  ogni	
  azione	
  ne	
  corrisponde	
  una	
  	
  
uguale	
  (in	
  modulo	
  e	
  direzione)	
  e	
  contraria	
  (verso)	
  

F12	
  =	
  -­‐F21	
  
→	
   →	
  

Forza	
  esercitata	
  	
  
dal	
  corpo	
  “1”	
  sul	
  corpo	
  “2”	
  

Forza	
  esercitata	
  	
  
dal	
  corpo	
  “2”	
  sul	
  corpo	
  “1”	
  

AOenzione	
  l’effeOo	
  però	
  può	
  essere	
  diverso	
  e	
  questo	
  
è	
  dovuto	
  alla	
  massa	
  “m”	
  dei	
  corpi	
  che	
  può	
  essere	
  diversa	
  



	
  Forza	
  Gravitazionale	
  (Newton)	
  

F
!"
= −

Gm1m2

r2
r
"

rG=6.67	
  10-­‐11	
  	
  (N	
  m2	
  kg-­‐2)	
  

Due	
  corpi	
  di	
  massa	
  m1	
  e	
  m2	
  si	
  aOraggono	
  reciprocamente	
  	
  
con	
  una	
  forza	
  	
  
•  	
   	
   direOamente	
  proporzionale	
  al	
  prodoOo	
  delle	
  due	
  masse	
  
•  	
   	
   direOamente	
  proporzionale	
  alla	
  costante	
  di	
  Gravitazione	
  
•  	
  	
  	
  	
  	
  	
   	
  inversamente	
  proporzionale	
  al	
  quadrato	
  della	
  loro	
  distanza	
  

m1	
  

m2	
  

r	
  
→	
  

F12	
  
→	
  

F21	
  
→	
  

F21	
  
→	
  

=	
   -­‐F12	
  
→	
  



	
  Forza	
  Gravitazionale	
  (Newton)	
  

F
!"
= −

GMTm2

R2
r
∧

=m2g
"

G=6.67	
  10-­‐11	
  	
  (N	
  m2	
  kg-­‐2)	
  

Sulla	
  superficie	
  terrestre	
  un	
  corpo	
  di	
  massa	
  m2	
  si	
  trova	
  ad	
  una	
  distanza	
  
R	
  dal	
  centro	
  della	
  Terra	
  che	
  ha	
  massa	
  MT	
  .	
  	
  
Il	
  corpo	
  m2	
  subisce	
  una	
  forza	
  :	
  

Dove	
  ∣g∣=	
  G	
  MT	
  /	
  RT2	
  =	
  9.8	
  (m	
  s-­‐2)	
  	
  →	
  

⇒	
  la	
  forza	
  peso	
  è	
  	
  ∣Fp∣=	
  m	
  g	
  	
  
→	
   →	
  

RT=6.4*106	
  	
  m	
  



	
  Diversità	
  dei	
  Mo:	
  

Moto	
  renlineo	
  uniforme:	
  	
  
il	
  veAore	
  velocità	
  è	
  costante	
  in	
  modulo	
  direzione	
  e	
  verso	
  
|V|=cost=V0	
  à	
  |a|=0	
  	
  

Moto	
  renlineo	
  uniformemente	
  accelerato:	
  
|a|=costante=a0	
  

V (t) = a0t +V0

S(t) = 1
2
a0t

2 +V0t + S0

S(t) =V0t + S0
V0	
  =	
  velocità	
  iniziale	
  
S0	
  =	
  posizione	
  iniziale	
  

Un	
  oggeAo	
  che	
  cade	
  (forza	
  di	
  gravità):	
  l’accelerazione	
  è	
  costante	
  e	
  di	
  modulo	
  a0=g=9.8	
  m	
  s-­‐1	
  	
  	
  



Condizioni	
  iniziali	
  bersaglio:	
  V0=0,	
  y0=	
  H,	
  
Condizioni	
  inisiali	
  proie<le:	
  V0=Vi	
  	
  

y	
  

x	
  

bersaglio	
  

proie<le	
  
ß	
  

Fp	
  
→	
  

Vi	
  
→	
   H	
  

	
  Problema	
  Ricapitola:vo	
  

Se	
  al	
  tempo	
  iniziale	
  t=0	
  il	
  proie<le	
  è	
  puntato	
  verso	
  il	
  bersaglio	
  e	
  la	
  distanza	
  
tra	
  il	
  proie<le	
  ed	
  il	
  bersaglio	
  è	
  pari	
  a	
  “d”,	
  verrà	
  colpito	
  il	
  bersaglio?	
  	
  
Cioè	
  nel	
  momento	
  in	
  cui	
  il	
  proie<le	
  arriva	
  nella	
  posizione	
  orizzontale	
  dove	
  si	
  trova	
  il	
  bersaglio	
  
(tf	
  ,	
  xf	
  ),	
  le	
  loro	
  posizioni	
  ver:cali	
  saranno	
  le	
  stesse?	
  

Moto	
  del	
  bersaglio	
  si	
  svolge	
  solo	
  ver:calmente	
  ed	
  è	
  uniformemente	
  accelerato	
  e	
  dato	
  
solo	
  dalla	
  forza	
  peso:	
  

Y=-­‐(0.5)	
  g	
  t2	
  +	
  H	
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Moto	
  del	
  bersaglio	
  si	
  svolge	
  solo	
  ver:calmente	
  ed	
  è	
  uniformemente	
  accelerato	
  e	
  dato	
  
solo	
  dalla	
  forza	
  peso:	
  

Y(t)bersaglio=-­‐(0.5)	
  g	
  t2	
  +	
  H	
  

Moto	
  del	
  proie<le	
  si	
  svolge:	
  
	
  Ver:calmente	
  (uniformemente	
  accelerato	
  e	
  dovuto	
  alla	
  forza	
  peso)	
  	
   	
   	
   	
  
	
   	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Y(t)proie<le=-­‐(0.5)	
  g	
  t2	
  +	
  Vy	
  t	
  
	
  	
  
	
  Orizzontalmente	
  (moto	
  a	
  velocità	
  costante)	
  

X(t)proie<le=Vx	
  t	
  =	
  Vi	
  cos(ß)	
  t	
  

y	
  

x	
  

bersaglio	
  

proie<le	
  
ß	
  

Fp	
  
→	
  

Vi	
  
→	
   H	
  

d	
  

n	
  

m	
  
ß	
  

vcos(ß)	
  

vsin(ß)	
   v	
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Qual	
  è	
  la	
  condizione	
  per	
  la	
  quale	
  il	
  proienle	
  si	
  trova	
  alla	
  distanza	
  “d”	
  dall’origine	
  
degli	
  assi?	
  E	
  cioè	
  quando	
  la	
  sua	
  posizione	
  orizzontale	
  coincide	
  con	
  quella	
  del	
  
bersaglio?	
  
	
  

Dal	
  moto	
  orizzontale	
  del	
  proie<le	
  questo	
  avviene	
  quando	
  :	
  
	
  

y	
  

x	
  

bersaglio	
  

proie<le	
  
ß	
  

Fp	
  
→	
  

Vi	
  
→	
   H	
  

d	
  

X f ≡ d =Vi cos(β) ⋅ t f ⇒ t f =
d

Vi cos(β)



Yf _ proiettile = −
g
2

d
Vi cos(β)
"

#
$

%

&
'

2

+
Vi sin(β) ⋅d
Vi cos(β)

= −
g
2

d
Vi cos(β)
"

#
$

%

&
'

2

+ d ⋅Tg(β)

In	
  questo	
  istante	
  di	
  tempo	
  finale,	
  il	
  proienle	
  che	
  altezza	
  (quota)	
  avrà	
  raggiunto?	
  
Dal	
  moto	
  ver:cale	
  del	
  proie<le,	
  sos:tuendo	
  t=tf	
  si	
  trova	
  la	
  sua	
  posizione	
  ver:cale	
  
finale:	
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y	
  

x	
  

bersaglio	
  

proie<le	
  
ß	
  

Fp	
  
→	
  

Vi	
  
→	
   H	
  

d	
  

In	
  questo	
  istante	
  di	
  tempo	
  finale,	
  il	
  bersaglio	
  di	
  quanto	
  sarà	
  caduto?	
  
Dal	
  moto	
  ver:cale	
  del	
  bersaglio,	
  sos:tuendo	
  t=tf	
  si	
  trova	
  la	
  sua	
  posizione	
  ver:cale	
  
finale:	
  

	
  Yf _bersaglio = −g
d 2

2 ⋅[Vi cos(β)]
2 +H



Yf _ proiettile =Y f _bersaglio

Per	
  sapere	
  se	
  il	
  proienle	
  colpisce	
  il	
  bersaglio	
  dobbiamo	
  sapere	
  se	
  al	
  tempo	
  finale	
  
(e	
  cioè	
  quando	
  il	
  proienle	
  si	
  trova	
  alla	
  posizione	
  orizzontale	
  del	
  bersaglio),	
  la	
  loro	
  

posizione	
  ver7cale	
  è	
  la	
  stessa	
  e	
  cioè	
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y	
  

x	
  

bersaglio	
  

proie<le	
  
ß	
  

Fp	
  
→	
  

Vi	
  
→	
   H	
  

d	
  

−
g
2

d
Vi cos(β)
"

#
$

%

&
'

2

+ d ⋅Tg(β) = −g d 2

2 ⋅[Vi cos(β)]
2 +H

ma Tg(β)= H
d
⇒ d ⋅Tg(β) = H ⇒  

Il termine di destra è uguale al termine di sinistra
VERIFICATO !!
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  proie<le:	
  V0=Vi	
  	
  

	
  Problema	
  Ricapitola:vo	
  
y	
  

x	
  

bersaglio	
  

proie<le	
  
ß	
  

Fp	
  
→	
  

Vi	
  
→	
   H	
  

d	
  

−
g
2

d
Vi cos(β)
"

#
$

%

&
'

2

+ d ⋅Tg(β) = −g d 2

2 ⋅[Vi cos(β)]
2 +H

Osservazioni:	
  
1)  l’equazione	
  è	
  verificata	
  per	
  qualsiasi	
  valore	
  della	
  velocità	
  iniziale	
  del	
  proie<le	
  (Vi)	
  
2)  La	
   persona	
   che	
   spara	
   il	
   proie<le	
   per	
   il	
   3°	
   principio	
   della	
   dinamica	
   si	
   ritrova	
   a	
  

muoversi	
  in	
  direzione	
  opposta	
  al	
  proie<le	
  (in	
  assenza	
  di	
  aOrito	
  o	
  vincoli)	
  
3)  Se	
   non	
   ci	
   fosse	
   la	
   forza	
   gravitazionale	
   il	
   proie<le,	
   in	
   base	
   al	
   1°	
   principio	
   della	
  

dinamica	
   con:nuerebbe	
   a	
   muoversi	
   lungo	
   la	
   linea	
   reOa	
   definita	
   dal	
   veOore	
  
velocità	
  iniziale	
  e	
  quindi	
  non	
  perderebbe	
  quota.	
  Allo	
  stesso	
  tempo	
  il	
  bersaglio	
  non	
  
cadrebbe	
   e	
   quindi	
   dopo	
   un	
   certo	
   tempo	
   verrebbe	
   ugualmente	
   colpito	
   dal	
  
proie<le	
  	
  


